LYNX MANUAL DOC .REV .A 18-03-2014

LX1080 GOBLIN 630-700-770 - PRECISION TAIL BELL CRANK SYSTEM - SILVER
LX1081 GOBLIN 630-700-770 - PRECISION TAIL BELL CRANK SYSTEM - RED
LX1082 GOBLIN 630-700-770 - PRECISION TAIL BELL CRANK SYSTEM - BLACK

(STEPT]

Press punching

——=—DR0833
G500 M3 Tail Pin Screw
Loctite 648 —==

MR6817Z-W2
Radial Bearing 1.5X4X2

[STEP 3]

2xMF73_Z1/W3
Flange Bearings 3x7x3*

Loctite 648

F
|

Ball Linkage 5X6.5 M3

MR73ZZ/W3

Radial Bearing 3X7X3

Loctite 242l ‘DR1205

~
~

DR1206
Spacer Bushing 3x4x3.5
TEP 5
Assembly step 4 Loctite 648
Q ‘-
| @
Loctite 242 -
DR1203

G700 Tail Pitch Slider Bushing

})T
DR1202-8
G700 Tail Pitch Slider Half Moon

Assembly Step 5

(STEP2]
=

\ DR1204-8

2 x Assembly step] 1 ) G700-Tail Bell Crank
Loctite 242 =
[STEP 4]
DR1201 2xMF128-77/W3.5

G700 Tail Pitch Slider Ring Flange Bearing 8x12x3.5

Loctite 648

Assembly Step 3

DR1222-3
G700 Tail Bell Crank Support

2xHEX CUP SCREW
M2.5X8

Loctite 242 when install
in Heli

TCEM3X20
Hex Cup Screw Full Thread M3X20
Loctite 242

Assembly finish

Assembly note

HELI INNOVATIONS




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8


